

Certain Connections on an Almost Unified Para-Norden Contact Metric Manifold

Shashi Prakash

Department of Mathematics
Faculty of science
Banaras Hindu University
Varanasi - 221005, India
shashiprksh8491@gmail.com

S. D. Singh

Department of Mathematics
Faculty of science
Banaras Hindu University
Varanasi - 221005, India
sdsingh@bhu.ac.in

Abstract

In this paper, we have considered several affine connexions on an almost unified para-norden contact metric manifold. Certain theorems also have been proved which are of great geometrical importance.

Mathematics Subject Classification: 53

Keywords: C^∞ -manifold, almost para contact metric manifold, almost norden contact metric manifold, almost unified para-norden contact metric manifold, affine connexions

1 Introduction

We consider a differentiable manifold V_n of differentiability class C^∞ . Let there exist in V_n a tensor F of the type $(1, 1)$, a vector field U , a 1-form u and a Riemannian metric g satisfying

$$\overline{\overline{X}} = \lambda^2 X - u(X)U \quad (1.1)$$

$$\overline{U} = 0 \quad (1.2)$$

$$g(\overline{X}, \overline{Y}) = \lambda^2 g(X, Y) - u(X)u(Y) \quad (1.3)$$

where

$$F(X) \stackrel{\text{def}}{=} \overline{X}$$

and λ is a complex constant.

Then the set (F, U, u, g) satisfying (1.1) to (1.3) is called an almost unified para-norden contact metric structure and V_n equipped almost unified para-norden contact metric structure is called an almost unified para-norden contact metric manifold.[4]

Remark 1.1. *An almost unified para-norden contact metric manifold is an almost para contact metric manifold [5] or an almost norden contact metric manifold [6] according as $\lambda = \pm 1$ or $\lambda = \pm i$ respectively.*

Agreement 1.1. *All the equations which follow will hold for arbitrary vector fields X, Y, Z, \dots etc.*

Replacing X by U in (1.1) and using (1.2), we get

$$u(U) = \lambda^2 \quad (1.4)$$

Replacing Y by U in (1.3) and using (1.2) and (1.4), we get

$$g(X, U) \stackrel{\text{def}}{=} u(X) \quad (1.5)$$

Replacing X by \overline{X} in (1.1), we get

$$\overline{\overline{X}} = \lambda^2 \overline{X} - u(\overline{X})U \quad (1.6a)$$

Operating F in (1.1) and using (1.2), we get

$$\overline{\overline{\overline{X}}} = \lambda^2 \overline{X} \quad (1.6b)$$

From (1.6a) and (1.6b), we get

$$u(\overline{X}) = 0 \quad (1.7)$$

Agreement 1.2. *An almost unified para-norden contact metric manifold, will, always be denoted by V_n .*

Definition 1.1. *A vector valued, skew-symmetric, bilinear function defined by*

$$S(X, Y) \stackrel{\text{def}}{=} D_X Y - D_Y X - [X, Y] \quad (1.8)$$

is called torsion tensor of a connexion D in a C^∞ -manifold V_n .

Definition 1.2. *The tensor K of the type (1, 3) defined by*

$$K(X, Y, Z) \stackrel{\text{def}}{=} D_X D_Y Z - D_Y D_X Z - D_{[X, Y]} Z \quad (1.9)$$

is called curvature tensor of the connexion D .

2 Affine Connexion D

We consider in V_n an F -connexion D defined by (Duggal 1971, Mishra 1984) satisfying

$$(D_X F)Y = 0 \tag{2.1a}$$

From (1.7) and (2.1a) yields

$$D_X \overline{Y} = \overline{D_X Y} \tag{2.1b}$$

Barring Y in (2.1b) and using (1.1) and (2.1b), we get

$$(D_X u)(Y)U + u(Y)(D_X U) = 0 \tag{2.1c}$$

Theorem 2.1. *In V_n , we have*

$$u(Y)u(D_X U) = -\lambda^2(D_X u)(Y), \tag{2.2}$$

$$\lambda^2(D_X U) - u(D_X U)U = 0 \tag{2.3}$$

Proof. Operating u in (2.1c) and using (1.4), we get (2.2). From (1.5), we have

$$(D_X u)U = -u(D_X U) \tag{2.4}$$

Putting U for Y in (2.1c) and using (1.4) and (2.4), we get (2.3). ■

Theorem 2.2. *In V_n , we have*

$$\begin{aligned} S(\overline{X}, \overline{Y}) + \lambda^2 S(X, Y) - u(S(X, Y))U - \overline{S(\overline{X}, Y)} - \overline{S(X, \overline{Y})} = -[\overline{X}, \overline{Y}] \\ -\lambda^2[X, Y] + u([X, Y])U - \overline{[X, Y]} - \overline{[X, \overline{Y}]} \end{aligned} \tag{2.5}$$

where S is the torsion tensor of connexion D .

Proof. From (2.1b), we get

$$\begin{aligned} D_{\overline{X}} \overline{Y} = \overline{D_X Y}, D_{\overline{Y}} \overline{X} = \overline{D_Y X} \\ \overline{D_X Y} = \overline{D_X Y}, \overline{D_Y X} = \overline{D_Y X} \end{aligned} \tag{2.6}$$

From (1.8), we have

$$\begin{aligned} S(\overline{X}, \overline{Y}) + \overline{S(\overline{X}, \overline{Y})} - \overline{S(\overline{X}, Y)} - \overline{S(X, \overline{Y})} = D_{\overline{X}} \overline{Y} - D_{\overline{Y}} \overline{X} + \overline{D_X Y} - \overline{D_Y X} \\ - \overline{D_X Y} + \overline{D_Y X} - \overline{D_X Y} + \overline{D_Y X} - [\overline{X}, \overline{Y}] - \overline{(X, Y)} + \overline{[X, Y]} + \overline{[X, \overline{Y}]} \end{aligned}$$

Using (1.1) and (2.6) in the above equation we get (2.5). ■

Now, we consider in V_n a scalar valued bilinear function μ , vector valued linear function γ and a 1-form σ given by (Mishra 1973)

$$\mu(X, Y) \stackrel{\text{def}}{=} (D_Y u)(\bar{X}) - (D_X u)(\bar{Y}) + (D_{\bar{Y}} u)(X) - (D_{\bar{X}} u)(Y), \quad (2.7)$$

$$\gamma(X) \stackrel{\text{def}}{=} (D_U F)(X) - (D_X F)(U) - (D_{\bar{X}} U), \quad (2.8)$$

$$\sigma(X) \stackrel{\text{def}}{=} (D_X u)(U) - (D_U u)(X) \quad (2.9)$$

Theorem 2.3. In V_n , we have

$$\lambda^2 \mu(X, Y) = -u(X)u(D_{\bar{Y}} U) + u(Y)u(D_{\bar{X}} U), \quad (2.10a)$$

$$\lambda^2 \mu(X, Y) = u(X)u(\gamma(Y)) - u(Y)u(\gamma(X)), \quad (2.10b)$$

$$\lambda^2 \mu(X, Y) = u(X)\sigma(\bar{Y}) - u(Y)\sigma(\bar{X}) \quad (2.10c)$$

Proof. Replacing Y by \bar{Y} in (2.2) and using (1.7), we get

$$(D_X u)(\bar{Y}) = 0 \quad (2.11)$$

Using (2.11) in (2.7), we get

$$\mu(X, Y) = (D_{\bar{Y}} u)(X) - (D_{\bar{X}} u)(Y)$$

Using (2.2) in the above equation we get (2.10a).

Using (2.1a) in (2.8), we get

$$\gamma(X) = -(D_{\bar{X}} U)$$

Which implies

$$u(\gamma(X)) = -u(D_{\bar{X}} U) \quad (2.12)$$

Using (2.12) in (2.10a), we get (2.10b).

Replacing X by \bar{X} in (2.9) and using (2.4) and (2.11), we get

$$\sigma(\bar{X}) = (D_{\bar{X}} u)(U) = -u(D_{\bar{X}} U) \quad (2.13a)$$

From (2.12) and (2.13a), we get

$$\sigma(\bar{X}) = u(\gamma(X)) \quad (2.13b)$$

Using (2.13b) in (2.10b), we get (2.10c). ■

Theorem 2.4. *In V_n , we have*

$$\lambda^2\mu(\overline{X}, Y) = \lambda^2u(Y)u(D_XU) - u(Y)u(X)u(D_UU), \tag{2.14a}$$

$$\lambda^2\mu(X, \overline{Y}) = -\lambda^2u(X)u(D_YU) + u(X)u(Y)u(D_UU), \tag{2.14b}$$

$$\lambda^2\mu(\overline{X}, Y) + \lambda^2\mu(X, \overline{Y}) = -u(Y)u(\gamma(\overline{X})) + u(X)u(\gamma(\overline{Y})) \tag{2.14c}$$

Proof. Barring X and Y separately in (2.10a) and using (1.1) and (1.7), we get (2.14a) and (2.14b) respectively.

Barring X and Y separately in (2.10b) and using (1.7), we get

$$\lambda^2\mu(\overline{X}, Y) = -u(Y)u(\gamma(\overline{X})), \tag{2.15a}$$

$$\lambda^2\mu(X, \overline{Y}) = u(X)u(\gamma(\overline{Y})) \tag{2.15b}$$

Adding (2.15a) and (2.15b), we get (2.14c). ■

Corollary 2.4.1. *In V_n , we have*

$$\mu(\overline{X}, Y) + \mu(X, \overline{Y}) = -u(Y)\sigma(X) + u(X)\sigma(Y) \tag{2.16}$$

Proof. From (2.9) implies

$$\sigma(U) = 0$$

Barring X in (2.13b) and using (1.1) and the above equation, we get

$$\lambda^2\sigma(X) = u(\gamma(\overline{X})) \tag{2.17}$$

Using (2.17) in (2.14c), we get (2.16). ■

Theorem 2.5. *In V_n , we have*

$$\overline{K(X, Y, \overline{Z})} = \lambda^2K(X, Y, Z) - u(K(X, Y, Z))U \tag{2.18}$$

Proof. Replacing Z by \overline{Z} in (1.9) and using (2.1b), we get

$$K(X, Y, \overline{Z}) = \overline{K(X, Y, Z)} \tag{2.19}$$

Barring (2.19) and using (1.1), we get (2.18). ■

Corollary 2.5.1. *In V_n , we have*

$$\lambda^2K(X, Y, U) = u(K(X, Y, U))U, \tag{2.20a}$$

$$\lambda^2u(K(X, Y, Z)) - u(Z)u(K(X, Y, U)) = 0 \tag{2.20b}$$

Proof. Replacing Z by U in (2.19) and using (1.2), we get

$$\overline{K(X, Y, U)} = 0 \tag{2.21a}$$

Barring (2.21a) and using (1.1), we get (2.20a).

Operating u on (2.19) and using (1.7), we get

$$u(K(X, Y, \overline{Z})) = 0 \tag{2.21b}$$

Barring Z in (2.21b) and using (1.1), we get (2.20b). ■

Theorem 2.6. *If an Affine connexion D is symmetric in V_n , we have*

$$\begin{aligned} \lambda^2(K(\overline{X}, \overline{Y}, Z) + K(\overline{Y}, \overline{Z}, X) + K(\overline{Z}, \overline{X}, Y)) &= u(Z)K(\overline{X}, \overline{Y}, U) \\ &+ u(X)K(\overline{Y}, \overline{Z}, U) + u(Y)K(\overline{Z}, \overline{X}, U) \end{aligned} \tag{2.22}$$

Proof. From (2.19) yields

$$K(X, Y, \overline{Z}) + K(Y, Z, \overline{X}) + K(Z, X, \overline{Y}) = \overline{K(X, Y, Z)} + \overline{K(Y, Z, X)} + \overline{K(Z, X, Y)}$$

Using in above the Bianchi's first Identity satisfied by a curvature tensor for symmetric connexion D , we get

$$K(X, Y, \overline{Z}) + K(Y, Z, \overline{X}) + K(Z, X, \overline{Y}) = 0 \tag{2.23}$$

Barring X, Y, Z in (2.23) and using (1.1), we get (2.22). ■

3 Affine Connexion D'

let us consider in V_n an Affine connexion D' satisfying

$$u(Y)(D'_X U) + (D'_X u)(Y)U = 0 \tag{3.1}$$

Theorem 3.1. *In V_n , we have*

$$\lambda^2(D'_X U) = u(D'_X U)U \tag{3.2}$$

Proof. Barring (3.1) and using (1.2), we get

$$\overline{(D'_X U)} = 0 \tag{3.3}$$

Barring (3.3) and using (1.1), we get (3.2). ■

Theorem 3.2. *In V_n , we have*

$$\lambda^2 \operatorname{div} U = u(D'_U U) \tag{3.4a}$$

where

$$\operatorname{div} X \stackrel{\text{def}}{=} (C_1^1 \nabla X), \tag{3.4b}$$

$$(\nabla X)(Y) \stackrel{\text{def}}{=} D'_Y X \tag{3.4c}$$

Proof. Contracting (3.1) with respect to X and using (3.4b) and (3.4c), we get

$$u(Y)divU + (D'_U u)(Y) = 0 \tag{3.5}$$

Replacing U by Y in (3.5) and using (1.4) and (2.4), we get (3.4a). ■

Theorem 3.3. *In V_n , we have*

$$u(Y)u(D'_X U) = -\lambda^2(D'_X u)(Y), \tag{3.6a}$$

$$\lambda^2(D'_X u)(Y)u(D'_Z U) = u(Y)u(D'_Z U)(D'_X u)U \tag{3.6b}$$

Proof. Operating by u on (3.1) and using (1.4), we get (3.6a).

Multiplying (3.6a) by $u(D'_Z U)$, we get

$$u(Y)u(D'_X U)u(D'_Z U) = -\lambda^2(D'_X u)(Y)u(D'_Z U) \tag{3.7}$$

Using (2.4) in (3.7), we get (3.6b). ■

4 Affine Connexion D^o

let us consider in V_n an Affine connexion D^o satisfying

$$u(Y)(D^o_X U) + (D^o_X u)(Y)U = 0, \tag{4.1a}$$

$$(D^o_X F)(Y) + (D^o_Y F)(X) = 0 \tag{4.1b}$$

Theorem 4.1. *In V_n , we have*

$$\overline{D^o_X Y} + \overline{D^o_Y X} - \lambda^2(D^o_X Y + D^o_Y X) = -(u(D^o_X Y)U + u(D^o_Y X)U), \tag{4.2}$$

$$D^o_Y \overline{X} - \lambda^2(D^o_Y X) = \overline{D^o_Y X} - \overline{D^o_X Y} - u(D^o_Y X)U, \tag{4.3}$$

$$\overline{D^o_Y X} - \lambda^2(\overline{D^o_Y X}) + \lambda^2(D^o_Y X) = u(D^o_Y X)U - u(D^o_X Y)U + \lambda^2(D^o_Y X), \tag{4.4}$$

$$\overline{D^o_U Y} - \lambda^2(D^o_U Y) = -u(D^o_U Y)U \tag{4.5}$$

Proof. Since

$$F(X) \stackrel{def}{=} \overline{X}$$

Using the above equation in (4.1b), we get

$$D^o_X \overline{Y} + D^o_Y \overline{X} = \overline{D^o_X Y} + \overline{D^o_Y X} \tag{4.6}$$

Barring (4.6) and using (1.1), we get (4.2).

Barring Y in (4.6) and using (1.1), (4.1a) and (4.2), we get (4.3).

Barring (4.3) and using (1.1), (1.2) and (1.4), we get (4.4).

Replacing X by U in (4.2) and using (1.2) and (3.2), we get (4.5). ■

5 Affine Connexion D^*

let us consider in V_n an Affine connexion D^* satisfying

$$u(Y)(D_X^*U) + (D_X^*u)(Y)U = 0, \quad (5.1a)$$

$$(D_X^*F)(Y) + (D_X^*F)(\bar{Y}) = 0 \quad (5.1b)$$

Theorem 5.1. *In V_n , we have*

$$D_X^*\bar{Y} - u(D_X^*Y)U = \overline{D_X^*Y} + \overline{D_X^*\bar{Y}} - \lambda^2 D_X^*Y, \quad (5.2a)$$

$$(D_X^*F)(Y) + \overline{(D_X^*F)(Y)} = 0, \quad (5.2b)$$

$$\overline{(D_X^*F)(Y)} + \lambda^2(D_X^*F)(Y) = 0 \quad (5.2c)$$

Proof. Since

$$F(X) \stackrel{def}{=} \bar{X}$$

Using the above equation in (5.1b), we get

$$D_X^*\bar{Y} + D_X^*\bar{\bar{Y}} = \overline{D_X^*Y} + \overline{D_X^*\bar{Y}} \quad (5.3)$$

Using (1.1) in (5.3), we get (5.2a).

Using (2.1b) in (5.1b), we get (5.2b).

Barring Y in (5.1a) and using (1.7), we get

$$(D_X^*u)(\bar{Y}) = 0 = u(D_X^*F)(Y) \quad (5.4)$$

Barring (5.2b) and using (1.1) and (5.4), we get (5.2c). ■

Theorem 5.2. *In V_n , we have*

$$\overline{D_U^*\bar{Y}} - \lambda^2 D_U^*Y + u(D_U^*Y)U = 0, \quad (5.5)$$

$$D_X^*\bar{Y} - \lambda^2 \overline{D_X^*\bar{Y}} + \lambda^4 D_X^*Y = \overline{D_X^*Y} + \lambda^2 u(D_X^*Y)U \quad (5.6)$$

Proof. Replacing X by U in (5.3) and using (1.4), we get

$$D_U^*\bar{Y} = \overline{D_U^*Y} \quad (5.7)$$

Barring (5.7) and using (1.1), we get (5.5).

Barring X in (5.2a) and using (1.1) and (5.5), we get (5.6). ■

ACKNOWLEDGEMENTS : First author is highly thankful to University Grant Commission, Govt. of India, New Delhi-110012, for providing financial support to carry out the present research work.

References

- [1] K.L. DUGGAL, On differentiable structures defined by algebraic equations II, F-connexion. *Tensor N.S.*, **22** (1971), 238–242.
- [2] R. S. MISHRA, *Structures on a differentiable manifold and their applications*. Chandrama Prakashan, Allahabad (India), (1984).
- [3] R. S. MISHRA, Almost contact manifold with a specified affine connexion II. *Journal of Mathematical Sciences*, **8** (1973), 63–70.
- [4] SHASHI PRAKASH AND S. D. SINGH, On an almost unified para-norden contact metric manifold. *Accepted in Ultra Scientist of Physical Sciences*, (2009).
- [5] I. SATO, On a structure similar to an almost contact structure I. *Tensor N. S.*, **30** (1976), 219–224.
- [6] S.D. SINGH AND A.K. PANDEY, On submanifold of co-dimension (m-n) of an almost contact metric manifold. *Prog. of maths*, **34** (2000), 43–49.

Received: October, 2009